THTEEEL &R

SHTEERRY (OREE) Tib-RE (R6.3.313R7E)
EEMA  |IRREERIFIRESR] EED | FBEd AWILFHEH TEH | SER BI |BEFE
AR 32 16 0 0 0 0 16 - 100.0%
Z il 23 18 0 0 0 0 18 - 100.0%
ke 33 23 0 1 0 0 22 - 95.7%
LR 24 21 0 0 0 0 20 1| 100.0%
B 143 82 0 0 0 0 81 1] 98.8%
KEFA L 0]- — - - -
AR 64 43 0 0 0 0 43 - 100.0%
b F 7 76 56 0 0 0 0 56 - 100.0%
Bz 6 4 0 0 0 0 4 — 100.0%
& 169 95 0 0 0 0 95 - 100.0%
=X-1i 570 358 0 1 0 0 355 2
XRE-EEADBITHRESD,
SHTEEFRS OXREE) 41V75KRFM@E (R6.3.313R7E)
EEMA  |IRREERIFIRESR] EED | FBEd ALFHEH TEH | SER BRI |BEFE
AR 13 10 0 0 0 0 10 - 100.0%
Z il 13 11 0 0 0 0 11 - 100.0%
Wi db 4 4 0 0 0 0 4 — 100.0%
LR 9 7 0 0 0 0 7 — 100.0%
Bt 45 31 0 0 0 0 31 - 100.0%
KEFA L 0]- — - - -
AR 17 15 0 0 0 0 15 - 100.0%
b F 7 17 14 0 0 0 0 14 - 100.0%
Bz 34 29 0 0 0 0 29 — 100.0%
& 67 49 0 0 0 0 49 - 100.0%
a5t 219 170 0 0 0 0 170 -
ST (RETEEIR) 789 528 0 1 0 0 525 2
KB BBRE->FER~NDBITHRESD, EFHH 527| EFE 99.8%
SHTEERRY QREE) Tib-RE (R6.3.313R7%)
EEMA  |IRREERIFIRESR] EED | FBEd ALFHEH TEH | SER BRI |BEFE
AR 25 19 0 0 0 0 19 - 100.0%
Z il 9 8 0 0 0 0 7 1] 100.0%
ke 36 25 0 0 0 0 24 1] 100.0%
LR 25 21 0 0 0 0 21 — 100.0%
Bt 48 45 0 0 0 0 43 2] 100.0%
KEFA L 0]- — - - -
AR 68 55 0 0 0 0 54 1] 100.0%
P 77 64 0 0 0 0 62 2] 100.0%
Bz 0|- — — - -
& 80 47 0 0 0 0 47 - 100.0%
=1 368 284 0 0 0 0 277 7
SHTEEFRS CREE) 175Kk Fa@E (R6.3.313R7E)
EEMA  |RREEHRIFIRESR] EED | Fid AHLFHEY TED | SER BI |BEFE
AR 23 11 0 0 0 0 11 - 100.0%
Z 4 4 0 0 0 0 4 — 100.0%
524 5 4 0 0 0 0 4 — 100.0%
LR 36 31 0 0 0 0 31 — 100.0%
Bt 27 24 0 0 0 0 24 - 100.0%
KEFA L 0]- — — - - -
AR 6 5 0 0 0 0 5 — 100.0%
P 9 8 0 0 0 0 8 — 100.0%
Bz 7 7 0 0 0 0 7 — 100.0%
& 68 53 0 0 0 0 53 - 100.0%
&t 185 147 0 0 0 0 147 —
st (RTEE2R) 553 431 0 0 0 0 424 7
EFH 431 BEFE 100.0%
HREEE) [ 1342 959 0 1 0 0 949 9
EFHH 958 FF=E 99.9%




